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The company is considering introducing a new machine, which would decrease the
direct labour costs per unit by 40%, but would also increase fixed overheads by 40%.

All other costs per unit and the selling price would remain unchanged.
(b) Calculate, based on the introduction of the new machine, the:

(i) break-even point in sales units

(c) Prepare ONE profit/volume chart, showing output from 0 to 6 000 units, using
your calculations in parts (a) and (b) to plot the results of using each of the above
alternatives.

Clearly label, on the graph paper provided on pages 4 and 5, the:
« break-even points (in units) for each alternative
- fixed costs (in $ value) for each alternative

- profit for each alternative (in $ value) at 6 000 units.
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(d) Evaluate whether the campany should introduce the new maghine




BLANK PAGE

%
53
TS
RS
oo~

7

MR 0 TS0 O O Tam over »
P 6 4 2 1 3 A 0 7 2 4



VIUV SIHENEILIHM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

6 4 2 1 3 A 0 8 2 4

P

]
= e - =) (@)
9['F 5 = = =
= Nu Lru m = o O
Fai: [ o)) Sl =l U ned m Q) <
<t &5 ) A= £ S .
Wy | .= 0 ‘B |2 S| & 1]
i q ) = A . Eo] = c e
= o 5[ be —llel & &8 C o i
[=) ~ - L — .I” NMW -
- o2, v C = E o = Y - a m
a al og — ir= P N 2 (W] ——
[« [ = A LB 5 Y .._H Olla ¥ T O S ” w —
O - o] e he A . —
+ ok o .= wlnm [l N e \OI 21+ d |m © Q|| © Y| —
= = 5 = [[& o C & N- = 15 — @ |@Igry, ]
O o m + o Qo= gLl v s | o 9+ —
E G E aRme TRE v ag m O RE S =
| d vr B = = =2 I=NIRY =R L VA N S —
. I = = S .S D18 4 =iile) p f—
3] cd 0 o] w [e) N I =D =t o Y R~ (& ) < —
ne) S o) = = .Mw S = TO o LY 0 M: —
° 7 =g B O = T PO v C —
a =il Q "1 W D] 2o S 20 x I o 8 g —
a O[OS v 9 A W T AL < [=Rir=] R =E e —
= gl 11y gl ol o al S @ Olcll 16— Yl S ~S & ||+ —
@] S j= d LTS Pt SN EMETIRS. - = 4 1O o & c =
Il w A ] I e cll holel FIE s LEl e clE £ a4 —
= I o] - - a J —
[e) — (&) < || S R = W (W [TI=IN —H I e ®) D [[Z A D —
= . b= - N = )4 fos B [wlii= S —
=YD ST/ q ) S [0 RO E O = r=liie) o & 7 —
ol e Yl e Slo—= o]l Fwla] (o9 4 5 © Y] e == 3 [ Y =
= ~ oo 1O At P O ol [+ B> =4 = —=Q S € —
v v J " ) - o= i
w 4 %) = [=] [«] v Ei q an = Mo WJ 2] m m. m_u = ) > ”. G o —
= S I < EV, 5 ) 5 1~ o q 5 = [ 4 |I|
al [ el 2l 2] [l n olvww [ A¥ 5 SJE @ Bi=l £ =8 g9 la —
o r—m \"4 Gt | =3 T |“ N rlr m- jem s ” - o= e
2 v - M . Q T E o = > 4 o W Sl = pi —
— a = D = ! - -0 —
v X — = | & fafiin == — = N i re] N o |~ a B v —
& 1= I - m Y[ (T A Q = 1O h oD .n. —
b Q= 18rs Ol E 0L BRS ome | 2T R ™EBe e g =
© = = eI m RS = O o o= h &
“ S < d i @ 5 5 o ||V =2lxe) % 2 > o] NP 0| © © O X
b o€ - Q| D c e cC N q
< IS al = @L o [l ol TOF]IQNUIS DY hie @0 sY n || &
o (L= o Il Y S S c 2T E RO PR IEll (olle =
m ..a > .-kIH. - omm Y %. [0 ho! ) £ e = m w <{ a m .Alu — || O [ .qn_ + g
vy - Z m Vi M‘. a H = -l -t o = g S N o <
= o 9 14 = £ I oY 5 =]l HSI% i QI ISM21 19 @ [
1% O = S @) s s ) < o B NS S lC 7 & -
..hl_ o < 2 ~ [} S g g 4= T - @ =2 c —~ Mu. u s F = Q| |~ Ol = A B
T s B e =5F Tagc=te g SR T R
ol el 19l 19 ol k= .= Y& Y =L | Bwls] zlFlug |l an @ FEEl 29 g 0 || T
— I d b = | bk A A = 2 Ny O U & - o= R = > i
L gl el s ol 2] le] [2F I 2| a0l lc2ld € -2 FIL Sl 2R 9 [ 1 o
@) = I P == = = -3 = <=0 ) = T - = ~
Ko Py o 4 | o] @ bl = 2 [ == 2 W= [ T U 0 = | = L[| [ 4= <[ ¢ U
S e = e = t
O H el [H (=S ™ o 0 o o . o
©
(o]




X

\
XK 9 bl
et

SRS

KKK

- VIUV SIHL NI 31IM 1ON 0a

RRRE

KRR

"DONOTWRITEINTHISAREA =

<
‘o
&L
S
e
Z
Al
=
o
=
o5 ok
e
oy
20
o ¥

(@) Prepare a Cash Budget for the three months July, August and September 2019.
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(b) Explain two reasons why it is important for Gribble Brothers to manage its cash
efficiently.
(4)

(Total for Question 2 = 18 marks)
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(a) Prepare a Profit Reconciliation Statement for Period 2 to show the profit in the

financial accounts.

(15)
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(b) Explain two reasons why a business needs to undertake a profit reconciliation in
a non-integrated accounting system.
(4)
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DO NOTWRITE INTHIS AREA

 DONOTWRITEINTHISAREA

. J

15
AR O 00 A Farm over b
P 6 4 2 1 3 A 01 5 2 4




VIUSIHLNEILIYM ION.Od

DO NOTWRITE IN:-THIS:AREA

YIUY SIHENEZLIHMNLON:OC

DONOTWRITEINTHIS AREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

|

v
H =
‘c
=
- e
Pt
o ()

fo))
@ ke °
— e
wr [J] Ke]
S N -
RIIES o S

W O
= [ + N
O
n I= =] [e]
2 = RS R
- o > 2
© LS
I 5 =
— m ()
5 c S 8= n
3 g g
hd e O =
o o ™ — <t RGeS <
P s - =
- fa) |= O [
=4 ]
O o Py E=
vy [¥2) Sl
© 7 ) < = © L [ [ Wﬂ
N € b= ¢ (o) E = = =
m i Q © ~ = = S
S a pu| Fel P i - = L
o> gl [9 Yl o o g 18 I4g
= (O] a - = = €
rﬁ = ..-" S d [ a - T M
=} = = < (=T € € |
o ) =0

FIRIE e -l 2] < - 2 lolgl |3 s
Pt ful| Posl S B l S > = o -
=] J2 [ o] a 7| o] a [e] d @
c %) R = = (o] ) m = cl 4 = T
(@) —ﬁv N - Q) + Y Q) -+ O - > =
> - S 4 > 4 = i =
al 9 v a2l 15 ol B 1o = o B e s o)
o T = = c = =
(=B | |6 o cll IS % o c al g [ o |I'g
o o v AR IR TR ~ A = =0
c| [[w» S Y oy 12 1M Y] oy e Y H U al
U ( g2 a1y == = s > = e
2 e = ) ol 9] = a g 9 = al & a o [
) [O)] = = ~ a = N ~ a X o =, | IS =,
o A = Al Al ol v [H |w] o]l v b9 B % al =
<

6 2 4

1 3 A 0 1

2

4

P 6

16




"DONOTWRITEINTHISAREA = = =

<
m.
O
=L
I‘-e]
S
=
Zz
A
=
0L
=
=
O
0y
S0
o

N
(@) Prepare for Period 4:
(i) a Profit Statement, using absorption costing
(9)
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i r \
5 (b) Prepare a statement reconciling the profit calculated using absorption costing
s with the profit calculated using marginal costing.
O S (2)
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5 s (c) Explain the reason for the difference in the reported profit figure calculated using
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(b) Evaluate the investment using all three appraisal techniques in (a) and recommend
whether the investment is worthwhile.
(4)

(c) Explain why the internal rate of return (IRR) and the net present value (NPV) do
not necessarily rank projects in the same order.
(6)

(Total for Question 5 = 23 marks)
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